SA: O AT
M UK A (MY - SAIFLUUXI/ASGES - DES)
s 2EE ANy JY EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
UIEPNFageaini; 44,442,046 40,999,758 3,442,288
= 30,777,500
[ 2,712,000
= 10,952,546
%g)ﬂ AA SH(MY - SAIFLUHXI/AGES - 1 42,029,400 37,922,700 4,106,700
= 30,777,500
= 2,712,000
< 8,539,900
dEE =iy |4 42,029,400 37,922,700 4,106,700
= 30,777,500
= 2,712,000
== 8,539,900
=AY =4 40,000 43,000 23,000
201 er23| 2,500 6,000 23,500
01 At2teltl 2,500 6,000 A3,500
O=A0t 2 AFRA 2,500
202 04| 13,500 10,000 3,500
01 2K 13,500 10,000 3,500
oAbty T HRFA 13,500
203 gF=4| 24,000 27,000 A3,000
03 A=A 2= 24,000 27,000 23,000
O3t A8t |4 =M 24,000
=aMITSI B2 Al(=1) 25,212,900 27,739,400 A2,526,500
= 20,077,500
< 5,135,400
403 MR HMSA=0lH 25,212,900 27,739,400 N\2,526,500
= 20,077,500
& 5,135,400
01 AXIHHA=2 22X 25,212,900 27,739,400 A2,526,500
OF=ATIINSA RS 25,212,900
= 20,077,500
= 5,135,400
=AH2I|Y SENZAE 63,000 102,000 A39,000
202 04l 3,000 2,000 1,000
01 2LHoIH 3,000 2,000 1,000
O=2d8EJ1Y |4 g2d 3,000
308 AXIHSOIA 60,000 100,000 240,000
18 SIS0t HAS A 60,000 100,000 40,000
O=28E)1Y SEXNAY 60,000
Wt AP HAEINEH REAMS (1) 10,700,000 9,050,000 1,650,000
= 10,700,000
403 MR SHHMSAH=01H 10,700,000 9,050,000 1,650,000
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A R 1E PFaig=a i
E: UK Aat
A

(MY - SAIGHUUR/AGRE - D
s 2EE ANy JY EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 10,700,000
01 MXIHHA 22 10,700,000 9,050,000 1,650,000
OAfotra MZIHEIEH ASAIE 10,700,000
= 10,700,000
=4 ME2S ZelAH REAL(2HAFEIH) 2,401,500 0 2,401,500
403 MR HHMSAHE01H 2,401,500 0 2,401,500
01 A= 2L 2,401,500 0 2,401,500
O=2 M - 25 2AH 2= 2,401,500
SO =HHI|EE =AMAD|X] AH(=21) 2,712,000 0 2,712,000
[ 2,712,000
403 MR HHMSAHE01H 2,712,000 0 2,712,000
= 2,712,000
01 AXISHHA=2EE 2,712,000 0 2,712,000
OSalf =dofiJ|gt =AMMIIX 2= 2,712,000
= 2,712,000
=4 HY MZIL JIBHRF(2OEEXH) 900,000 0 900,000
403 AXIEHHSAH=201H 900,000 0 900,000
01 AXIEHM A= 2 £ 900,000 0 900,000
O=2a g dald Jlgt2= 900,000
/;\L[%*—gﬁcc'! DESHAY - SAILLMUX/AHEE - D 2,362,500 3,025,500 663,000
2]
SHAT ME=sY 1,315,000 913,000 402,000
AMESEH 4201 54 X 381,500 401,500 /20,000
202 04l 4,500 1,500 3,000
01 SLHoIH 4,500 1,500 3,000
OXNZUe I XA & AEEE S 4,500
308 AHAIEMSOIE 377,000 400,000 /23,000
18 SIS0t HAS A 377,000 400,000 A\23,000
OA2MFSHHl =018 S 377,000
SciX0F &g 2435t 137,000 140,000 A3,000
403 AXIEHHSAH=01d 137,000 140,000 A3,000
01 MHXIHHA 22X 137,000 140,000 23,000
OZctE0r &Y 2dst 137,000
HepPDle 389 Y N 60,000 60,000
308 XtXIEMSO0IH 60,000 60,000
01 AXENBSELES 60,000 60,000
Ofelatd Iz X 60,000
st=dib s 13 HAER 29 NE 100,000 100,000 0
306 £= 100,000 100,000
01 2d= 100,000 100,000
OSt=di) =7 Y= 28 N2 100,000
ADIESHEE D8 RE(FIEFXY) 636,500 211,500 425,000
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2A:

A APSZY NESHAY - SAIIGLUX/AGAE - NEFH
ol FEal Mgsd (SH9 H2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
403 AXIEHMSAH=0lH 636,500 211,500 425,000
02 SISt 2 S A AIEHI 636,500 211,500 425,000
OR¢E Jlgt Saltcall E 234 |
g 2= 636,500
Meta &g |4 1,047,500 2,112,500 21,065,000
EBASE 58 NS =4 (JEEXR) 1,047,500 2,112,500 /1,065,000
403 AXIEHHSAH=01d 1,047,500 2,112,500 A1,065,000
02 SII2S0 U H=E S AL 1,047,500 2,112,500 A1,065,000
OHASE =8 Nl =4 1,047,500
Y2 A0 XA D) (DIEH/DJIES) 50,146 51,558 A1,412
Jl=3H| 50,146 51,558 A1,412
SEN2g Jl=2dl 50,146 51,558 A1,412
201 et=23| 26,380 28,191 1,811
01 AtR2t2|HI 26,380 28,191 A1,811
ORAN2E A2t/ 26,380
202 04| 13,566 13,167 399
01 =LHOHI 13,566 13,167 39
OFAM2E =0 13,566
203 YR=&| 10,200 10,200
01 J|2=2gdR=a] 6,600 6,600
o= 6,600,000 6,600
M PAZSLRFEI 3,600 3,600 0
©202! Olat 300,000 x 12 3,600
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